Subject: Energy-Loss in Geant3&4
Posted by Sebastian Neubert on Wed, 28 Nov 2007 13:25:13 GMT

View Forum Message <> Reply to Message

Hi!

With the stepLimiter switched on there is no Landau-Energy loss anymore... see attached
plots:

G3:

G4:

File Attachnments

1) G3_| andau. png, downl oaded 921 ti nes

I PndTpePointfELoss" 1000000/PndTpePoint.fLength [FndTpePoint.fLength=0} h
Entries 234949
= Mean 4.66
E RMS 3.002
10* -
10° i
10° {
IIIIIIIIIlIIIIIIIIIIIIIlIIIIIIIII|IIII|IIII|IIII

o 1 2 3 4 5 6 7 2 =} 10

2) 4 _I|andau. png, downl oaded 859 ti nes

Page 1 of 2 ---- Generated from GSl Forum


https://forum.gsi.de/index.php?t=usrinfo&id=428
https://forum.gsi.de/index.php?t=rview&th=1640&goto=5517#msg_5517
https://forum.gsi.de/index.php?t=post&reply_to=5517
https://forum.gsi.de/index.php?t=getfile&id=3986
https://forum.gsi.de/index.php?t=getfile&id=3987
https://forum.gsi.de/index.php

PndTpePointfELoss* 1000000/PndTpePaint.fLength [PndTpePoint.fLangth=0} h

— Entriess 1195942

e Mean 1.318

C 1 RMS 0.7628
500—
400 C
300 C
200
100(—

IIIIIIII|||I.|.LJII|IIII|IIII|IIII|IIII|IIII|IIII
00 1 2 3 4 5 6 7 a2 9 10

Page 2 of 2 ---- Generated from GSI Forum


https://forum.gsi.de/index.php

